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January 2020: For best practice, change #1 to f(x) = -3cos(2x) - 1.
Our key won't match, but you could check it on your caIcuIat r.

Unit 11 Extra Practice ~ / ?z, W
[

1) Graph the equation f(x)=-3cos(2x) from -r<x<x. Be sure to state the amplitude,
frequency and period as part of your work .

Gvp=3 || =2 pen= 2 =TT Yeer=
2f2m
2} What is the range for y¥= -3 s x) ?
[ _5 i 3]
3) The motion of a spring can be modeled by the function f(x) =2.4 cos (=x) - 7, where x
represents the number of seconds the spring is oscillating and y is the distance, in inches,
of the height of the spring. What are the maximum and minimum heights of the spring?

Mo 24-7= <~  May = 247 = -G.4

4) If f(x) = -6 + 4 sin(2x), what is the maximum value of the function?

6t = —2
5) Give an example of a funcuon that has an amplitude of 4 and a penod of n? 2
L0 =1 %WNL(Z“;L} W( = /TT
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6) The voltage E of an alternating current ele&'rical circuit can be represented by the function
E(t) = 220 cos (4nt), where E is measured in volts and t is measured in seconds. How long
does it take the alternating current to complete one full cycle?

| =TT Pon= Lemgth g Texgolo < %ﬂ_@

7) Describe the graph for y = 15cos(x(x + 3))-10.
a) amplitude jg f) minimum = -/5-/0 = —c)fj
; N .
b) frequency = ﬂ\mm*/i’ g) maximum = /5 /0= &

¢) period = ;ﬂ—!;‘i :ﬁg_& h) range = ! "‘lgf 5 !

d) phase shift = 3

e) vertical shift = 15(9%’\’1 1O
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B) A pet store clerk noticed that the population in the gerbil habitat varied sinusoidally with
respect ko time, in days. He carefully codected data and graphad his resulting equatien. From
the graph, determine the amplibude, period, harizontal shift and vertical shift. Write the
equation of the graph, {regentsprep.crg)

&, Wnat is the amglitude? = =/5 /"5 a=-15
h. What is the periad? E& dﬂ! rj
]

© What is the frequency? %‘L
d. Wiat Is | # Q%E = _'ﬁ%‘f _ﬂ-

&, What Is the vertical shift {midline)? 3":1:"'\ o f ‘7
f. What is the harizoatal shift? — Q
g. What is the equation of the gerbll population, P{t), as shown in the diagram abve a5
a cosine function? Pf{’{:‘\)"}gtﬂf"i/ '6 FH?
h. What would be the population when t = 45 days?
P8 = 15 Los( T (o)) 117 = 81 ~29
rale wn nadians 'f Ofﬂfﬁ
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-t - Extra practice

Unit - || Trig Graphs W,

Stata the equatiand for the following graphs.

Amplitude = i -_.-; Periid = Phuse Shiil = Eg é
AL

Equation = (i Lerms oof the cosine function)
2) 3
/\'\ \ /
1/

i,

ﬁ\ ;Em.“. '. TR =,=.
\/Hﬁv’—; w} =A5=)

»\mplirudc:_p\. . Pegid= Phaseshi=_"7T _— '™ ‘E_ o ’Q?L
Equation - = -{:(j&)i 957"&\/)(_5 {in terms of the sine fanction)
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Amplitucle = ‘-?)

n=-3

Amplitade =

Period =

ﬁ Vet shin= M"-mq
Bquation * = ‘if_\k‘) 31'4;2{2 1 tin term of the eosine functicn) J‘f

il

’UJ = ﬁ_ =

\\‘ /\ \\.
|
. i

vcﬁs‘tm_Q_

Eguation. .= 'p{ﬁ 3%(4)( | n terms of the sine function)
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